Result



Outline

e Discrete Cosine Transform
e Discrete Sine Transform
 Discrete Hartley Transform



Discrete Cosine Transform

input:

x[nN]=[0123454321]

result:

Discrete Cosine Transform (Xc[m], m

25.000000000000000

= ~ floor(H/2)):

-10.4721359545999578
=0, 000000000000002
-1.5278640450004149
=0, 000000000000001
=1.000000000000000
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Discrete Sine Transform

input:

x[n]=[543210-1-2-3-4]

result:

Discrete S5ine Transform (Xs[m],
15.38841 7685876266
6.8331909602355869
3.632712640026805
1.624598481164533

m= 1~ floor (H/2)-1):
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Discrete Hartley Transform

input:
x[n]=[1234]

result:

Dizscrete Hartley Transform (Xh[m], m = 0 ~ HN-1}):
10.000000000000000
—4.000000000000000
-1.99999980885555595
0.000000000000002




